2021/1/15 RE - H—EXHH0O52020-2021 D_1H

L0
AEBI—TIAGRERFRF 73— HKD / HKV

F&
n BETE/MEETE wBH/EERYUESERMT »EaREETICH BRI, BERYSERMIHEN
HKD (BREHSNAH> ) —_—
e mE FAE BRIMEFHL 7rh— RUE HER2EE AT
b Sas 2R BT (Fe=21N/mm?2) RILZ
do (mm) hy (mm) | (mm) Lz (mm) SRR (kN) thalkN) (Nm)
HKD 5/16"% 30 383679 10 33 30 14.5 39 4.9 8
HKD 3/8"x 30 383686 12 35 30 13 39 5.1 15
HKD 3/8"x 30
BUCKET 383959 12 33 30 13 3.9 5.1 15
(500A L IN4rY)
HKD 3/8"x 40 383960 12 43 40 18 6.1 6.3 15
HKD 1/2"x50 384021 16 54 50 22 8.5 10.5 35
HKD M6 % 25 376894 8 5 25 i 30 2.9 4
HKD M8 x 30 376959 10 33 30 145 3.9 4.9 8
HKD M10% 40 376967 12 43 40 18 6.1 6.3 15
HKD M12x 50 378544 15 54 50 22 85 10.5 35
HKD M16 X 65 382941 20 70 65 305 12.6 19.3 60
HKD M20 % 80 382955 25 85 80 42 17,2 28.3 120
HKD-ST (X5 LR —5US304) —
o8 mE FAR =IEFH Frh— RBUS FEEewEE AR
b g =& B (Fc=21N/mm?2) ~ILZ
do (mm) hy (mm) [ (mm) Lz (mm) 3(EE (kN) LAk KN (Nm)
HKD-ST 3/8"% 30
<5 304 353419 12 33 30 12 33 4.2 10
HKD-SR (7> L' —SUS316) —_
2% RE SAE BIGA FYn— AUH HERSEE  BARM
RE 28 g (Fc=2IN/mm2)  KILZ
do (mm) hy (mm) | (mm) Lz (mm) 3R kN) LAE KN (Nm)
HKD-SR 3/8"%40 247950 12 43 40 18 5.1 4.9 15
HKD-SR M6 % 25 247951 8 o7 25 12 2.1 29 4
HKD-SR M8x 30 247952 10 33 30 145 33 3.9 8
HKD-SR M10x 40 247953 12 33 40 18 5.1 49 15
HKD-SR M12 x50 247954 15 54 50 22 7.1 8.8 35
HKD-SR M16X65 247955 20 70 65 30.5 12.6 15.1 60
HKD-SR M20 X 80 247956 25 85 80 42 17.2 24.0 120
HKV (UL, EREHRSD > F) —
o8 oE FAE BIEFH 7rHh— RUE HEEEEE BRI
s 2K B (Fc=21N/mm?2) ~ILZ
do (mm) hy (mm) [ (mm) Iz (mm) 3ZRE (kN) AR KN (Nm)
HKV 3/8"%30 2127987 12 33 30 13 2.8 5.7 15
HKV 3/8"% 40 2127988 12 43 40 18 43 5.7 15
HKV 1/2"%50 2127989 16 54 50 22 6.0 10.5 35
HKV M8 x 30 2127980 10 55 30 145 2.8 49 8
HKV M12X%50 2127983 15 54 50 22 6.0 10.5 35
7 HKV M16 % 65 2127984 20 70 65 30.5 12.6 19.3 60
HKD-D (U w7 L) e
e mE ZfE BIEH Frh— RUR TEgenE AR
p-a 2R BT (Fe=21N/mm?2) ~ILT
do (mm) hy (mm) | (mm) Lz (mm) 3iR kN) tABFKN) (Nm)
HKD-D M12x50 385459 16 54 50 22 7.1 8.1 35
HKD-D 1/2"%50
$5316 (RFYL3A) 324881 16 54 50 22 7.1 8.8 35
HKV-R2 (Uw iU/ AT LA SUS304)
@8 nE ZFAE =IEFHL Frh— RBUSE Gizieon wmAR
BE 2R RS (Fc=21N/mm?2) ~ILZ
do (mm) hy (mm) | (mm) lg (mm) ZEE (kN) tAlf(kN) (Nm)
HKV-R2 3/8'x40 2168253 12 43 40 18 5.1 49 15
HKV-R2 1/2" %50 2168252 16 54 50 22 6.0 10.5 35

136 7oh—mza 7

https://hilti.meclib.jp/203/book/print.html?open=0&start=136&end=0&fusenprint=1&memoprint=1

IS
A
(#)

100
100

500

100
50
100
100
50
50
25
25

I\FE
AH
(#)

100

NGB
A¥
(#F)

50
100
100

50

50

25

25

e
A
(&)

50
50
5
100
25
25

I8
A#
(%)

50
50

N8
A#
(#F)

50
50

3/87%30 S00A L Ny B

KFE RS
ALy

(#F)
1,600
1.000

¥8,200
¥7.200

¥36,000

1,000 ¥7,600
300 ¥7.500
1,600 ¥6,500
1,600 ¥8300
800 ¥4.200
300 ¥8.200
150 ¥7,600
100 ¥13,400

KA RS
A
(#F)

1,000 ¥26,400

KFE RS
A

(@)

800 ¥14,100
1,600 ¥16.900
1,600 ¥21,800

400 ¥16,000

300 ¥26,100

150 ¥30600

100 ¥65500

XiE RS
AH
(#F)

1,000 ¥3.400
1,000 ¥3,700
500 ¥3,700
1.600 ¥6.800
500 ¥3,900
150 ¥7.300

KFE RS
A
(#)

300 ¥8.200
600 %¥25,000

K8 RS
A
(#F)

800 ¥13,500
300 ¥20,900

171



